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Part1 {60 MARKS)
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For each question from 1 to 30, four options are given. One of them 1s the correct
answer. Make your cheice {1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Oplical Answer Sheet.

i Tornmy ciassified some objects using tha classitication chart befow.

l

Non-Living Things

A B
Book Steel ruler
Silk dress Porcelain mug
Hubber shoes Plastic bag

X Y

P
Which one of the following objects could X E,td Y ba?

X Y

(1} | Newspaper Clay pot

{2} | Leather shoes Silk shit |
(3} | Gold medal Wooden shett

(4) | Magnetic bubion Mirror n

2. The living things shown below are grouped logether based on a common
characteristic. :

S mushroom tnould

What is the common characieristic that ihey all have?

{1) Presence of flowers.

£y Presence of chlaraphyli.

{3)  Heproduce by spores.

{4) Able to decompose (o oblain nutiients.



Study the classification chart below.
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Animals

-

Group A Group B
Snail Penguin
Fruit Bat Cravodile
Elephanl Grizzly Bear
Which one of the following sets of headings for Group A and Group B is
correcl?
Group A - Group B
{1} | Plant eaters Animal eaters
(2} | Small animals Big Animals
{3) [ Animals thal fay eqys Animals that give birth to their younq alive
{4). | Animals that iive on land only | Animals That live in walar only

Study the two pictures below.

Balsam

Fern

In what ways are they differant from each other?

(1)
{2)
(3)
(4)

A. Balsam is a plant but fern is nal.

B: Balsam bears flowers but fern does not.

C: Balsarm can make is own food but fern cannot.

L: Balsam reproduces by seeds bu! fern reproduces by spores.

A and G only
B and D only
C and D only
AB CandD
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Which one of the following is not a cycle?

(1) Cray and night

() Age of a person

(3] Change in seasons

(4} Movements of the moon around 1he Earth

The diagram below shows the life cycle of an animal. Each box represents a
slage. The age of the animal at that stage is shown in the box.

///Q [ Stage A |
1 day x
[ StageD | . [ StageB ]

4 months 2 days
{ StageC ] 4« //
?

What coutd be the possible age of the animal at Stage C7

{1 11 days
(2) 56 days
(3) 2 weseks

(4) 20 weeks

In what ways are a rambuian difierent from a tomato?

Cotour of skin
Texture of skin
Number of seeds
Size of seed

vowe

(1) AandBonly
{2) C and D only
{3) B, Cand D only
(4) A.B CandD

Plants make their own food. In which direction, does the food travel in the
plant?

{1} it travels from the fruit to the slem.

(2)  itiravels from the stem {0 the feaves,
{3} L iravels from the roots 1o other parts of the plant.
{4) it travels from the leaves o ofher pans of the plant.



10.

11.
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Which of the following stalements arg not true about plants?

Plants respire all the time.

vQpz

{1) AandBonly
{2) CandDonly
{3) B, C and D only
4y ABCandD

Plants give out the most amaunt of oxygen at night.
Plants alone help 1o balance lhe amount of gases in the air.
Plants pholosynthesize only in the day and respire only at night.

Which diagram represenis the development of a papaya plant correctly?

(1)
pmd?SEEd \I:-::ars
flower it
produces [}lﬂnt “/éﬂ"l'fs mio
(3}
bursl .
DPEEJSEEC[ geminates
i Seedling

de_vfinpsQ
Into
flower olant

oroduces

;)gmws into

{2)
bEVSEEd\Qiminates
flower plant
ueu:ﬂps\seedling oFovs ik

(4)

bea%ﬁﬁﬁd bears
flowers fruit
)

bears | / geminales
plant ¢ seeding

grows inko

Which of the following sanzes tell me that the shell of a durian is hard and

thormy?

Sense of sight
Sense of lagle
Sense of smell
Sense of touch

3
Cowe

O
S fad Pl

A and D only

B and C only
A, BandC only
A B CandD

e e g
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12, Which one of the following animals have young which do not loak like them?

i (2)

Torcise

(3) (4)

Chicken

13.  Mary was blindfelded before she was given four pairs of objects as shown

below.
A B
Warem walter Cold water Qrange Apple
[ B
Red balizon Biue balloon Plaslc bowl Melat bawi

Which pair of objects would she not be able to gifferentiale?

(1)
(2)
(3)
(4)

A

B
C
G

el

,-_‘s,f
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15.

16.

i7.

18.
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Which of the following parts of the skeleton shown below tsfare immovatie?

(1) Knee joint

{2) Elbow joint

(3]  Shoulder joint

(4)  Joints in the skull

Which cne of the following statements about our joints is false?

(1) Alljoints only allow mevement in one direction.

(2} . Ajointis a meeling place of two bonas.,

(3)  Joints allow us to move with the help of muscles attached to tham.
(4}  Both our knee joints and shoulder joints are exampfes of hinge joints.

f[bo‘-\;

Which of the following organs does the rib cage protect?

Brain
Hear
Lungs
Stormach

oo

(1) Aonly

{2}y Bonly

{3) BandConly
{4) B, C and D only

Which one of the following pairs of systems helps us to move?

{1 Skeletal and digestive
{2) Muoscular and skaletal
(3} Muscular and digestive
(4} Skeletal and circulalory

Which two aclions listed below make use of arm and hand muscles?
(1) Waving and smiling
{2) Whiling and painting

{3)  Taiking and winking
{4} rawing and breathing

fy



19,

20.

21.

Study the 1able below.

What could be the possible headings for X and ¥ respectively?

The organs that make up
as shown below.
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X Y
Skulf Gullet
Ribcage Stomach
Shoulder Blade Small intestine

[ X

Y

Skeletal sysiem

Digestive systemn

Skeletai syslem

Circulatory system

Digestive system

Skeletal system

Circulatory system

Digestive system

Organs involved
in digestion
A ]

Organs not involived
In digestion

L

Which of the following organs can be placed in A and B?

{n
(2)
{3)
(4)

Which organ in the digestive system cortrols how much water in

the digestive system can be placed into two groups

A

B

Mouth, Stornach

Gullet, Small and Large intestine

Stomach, Small inlestine

Mouth, Gullet, Large intestine

Small intestine

Maouth, Gullet, Stomach, Large intestine

Mouth, Stomach, Smalj

mntestine

Gullet, Large intestine

being removed from the body?

(1)
(2)
(3)
{4)

Mouth
Stamach
Smali intestine
Large intesting

the waste is



22.

23.

24,

25,
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Which one of the following stalements is not trua?

(1) Salivais a digestive juice.
(2)  Digestion does not lake place in the gullet.
(3} The digestion of food is completad in the small inlestine.

(4} Absorption of completely digested food takes place in the large
intestine. )

Which of the following(s) can be separaied by using a magnet?

A: Rice from flour.

B: Sugar frorm sand. :

Gz Iron needles from steel nails.

D: Broken glass pieces from iron filings.

{1) Aonly
{2} D only
(3}, AandBonly
{4) C and D only

Which ane of lhe following is correctly grouped?

Objects made from Objects made from
glass and wood metal and plastic
(1) Pen Pencil
(2) Picture frame Eraser
{3 Rice cooker Torch light
(4} Cisplay cupboard Electrical wire

Jerry obsarved how his twa magnels aftracted some paper clips.

Whet does his ohaarvalion show?

(1}  The North pole is stronger than the South pole.

{2) The big magnet is stronger than the small magnet.

{(3) The magnets can altract paper clips only at the poles.
{4) The strength of a magnet dees not depend on its size.

Ly
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26.  Lynn was able to remove the iron nail from the container of off using a bar as

shown below.
N : r

il

_____ /.-r"'
[ — \E‘.lass
————— gaker

Iron nail

What does the above experiment show?

A: The bar is a magnet.

H: The iron nail has become a temporary magnet.
C:. A magnetic force can pass through glass only.
D: A magnetic force can pass through glass and oil.

(1Y Aand Donly
(2) BandConly
(3} B, CandDonly
(4 A B CandD

27.  Jack had four magnets of different shapes. He gradually brought the Norih
pole of each magnet near a pile of pins until it attracted the pins. He measured
the distance between lhe magnet and the pins; and observed the number of
pins attracled. His ohservations wera recorded in the lable below.

Magnet Distance between the | Number of pins
magnet and the pins altracted
U-shaped magnel 7 cm 9
- Bar magnet 2cm iD
Ring magnat 5¢cm 4
Rod magnet 2cem i

Based on the data in the table above, which of the magnets has the strongest

puli?
i1 U-shaped magnet {)  Bar magnet
{3 Ring magnet! {4}y  Hod magnet

A

Y



28,

29,
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Janet ohserved that the three magnets repelied one another as shown below.

" repei
T« —3

repel

— —

5 -pole

Identify the poles at X and Y.,

X

X Y
(1) N-pole S-pole
{2) S-pole N-pole
{3) N-nole N-pole
{43 S-pole S-pole

Two bar magnets, suspended by strings, are separated by a thin piece of

glass.

Which one of the lolfowing diagrams shows what will happen when the
magnets are brought close logether?

(1)

olass
e

(2)

glass

glass

Ve

\

[~ s ]




30.

Study the flowchart below.

Start

h 4

Does it break when
dropped?

Mo

h J

Can it be stretched?

Yes

Mo
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Does it allow light
to pass through?

k2
v 1)

Yes
F

A

Which of the following objects can be represented by A, B, C and D?

A B C D
{1} | Ballocn Sponge Wooden ruler Lens
{2} | Bubber band Steel bar Clay tile Glass
(3) {| He=e Paper clip Boitle cap Waler bottie
() Paper £lip Cling wrap Parcelgin Plastic bag
End of Part |
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Partlt {40 MARKS)

For gquesfions 31 to 46, write your answers in this bookiet.

31.

32,

Study the table below carefully.

Animal Boedy Movement Way of having Habltat
covering young
A " Hair Walk Lay eggs Land
B Hair Fly Give birth Land
c Feathers Fly Lay eggs Land
L. [ Fealhers——r——Rur_ .___ | _ Layegos——btand
E Scales Swim Giive bith | Water
F Scales Swim Lay eggs "~ water

From the table above, identify the letter that represents each of the fallowing
animals. {3m}

a)  guppy i by bat
c) ostrich : d) parrot
=y water snake : 1] spiny anteater :

The diagram shows organs X and Y of the digestive system in man.

a} Which other system, besides the digestive system, does organs X and
Y, belong to in our body? (1m)

b} Name two actions that must take place in the organs; X and Y, to move
the food substance in them. (1m)
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33.  Refer to the water plants below,

Cattail Hydrilla Arrowhead Water hyacinth ]

Group the water plants using the table befow. (2rm)

Fuily submerged Fartially Floating
submerged

34. a) Completa the life cycla of a butterily in the box below. (1rm)

b) Which stage of a buttérﬂy undergoes mouling? (1m}

35.  Based on functions, state a similarity and a difference between an adult plant
and a young plant, (2m)

Sirmilarity:

! Difference:

13



36.
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Study the twao life cycles of insects as show;n below.

/veQQ | /yegg\

adul | adut arva

‘»\H‘_‘%_nymph . \ DUpa /

Life Cycle G y Life Cycle H

a) What is the difference beiween the two life cycles, G and H? {im)

b) Ir: which life cycle, G or H, would you place a mosquito? {1m)
Life eycle
) Moulting is a process that is cormmon to both life cycles of insects.

Describe what is moulting? {1m)

d) Why is moulting important to tha fife cyclas of insects? (1m)

14



37.

38.

39.
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Nelson and his friends were at the beach having a barbeque. Nelson and his
triends made the following statermnents.

Nelson: i's so hot standing herel
Ronnie: Oh no! Tha sausages ars burntl
Samuel; The chicken wings are delicious!

Write down the sense organ and sense used by each child when making their
observations. {3m}

Name Sense Organ Sense
a) Nelson -
b) Romnie
L c) Samuel

List two important functions of our skeleton. (2m}

Funiction 1:

thclion 2:

Read each of the statements below carefully and write "T” for true statements
and “F” for false statements in the boxes providad. (2rm)

ay | The young wili aiways have a simiiar e cycle as thair
parents. :

b) | Twins who lock like each ciner will alco have identical
thumbprints,

©) { Hairlength is a characteristic that can be passed down
' from a mother to her daughter.

d) | Living things always reproducs their own Kind.

. “f
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40.  Study the classificalion table below.,

Systems

System Y System Z

Artery Windpipe

a}  Complete the classification table above. (2m) -

b} Which systems, do Y and Z belong to in man? (2m)

System Y :

System Z2:

41.  What happens to muscles 1 and 2 when you straighten your arm? {2m)

4%
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42.  Ming Sheng was given a potted plant Y and a box with a hole as shown
below. -

Plant Y L

@‘_— hole

a)  What should he do if he wants his plaht Y to bend lowards one side?
{2m)

b) What characteristics of living things does the above experiment show'?
(im) '

C} Why is it imporiant for plants to grow towards light? {1m)

17
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43. Magnets are tied to the two toy cars as shown in the diagram below.

s/

A B
ay) If the two toys cars are brought near each other, what do you think will
happen? (1m}
D) ©  Give a reason for the result in {a). (1m)

44,  Group the foliowing materials correctly in the char below. (2m)

Nylon Wool Rubber Copper
Matlerials
I
! ] .
Natural . Man-made
| (d)
From animals i Fram plants From the ground
{2} B {c)

18

fa
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45,  Study ihe set-up shown below.
Waoodton rod

S-pole
Magnet (3

aj Dascribe how you can make another fing magnet float above
Magnel Q, shown in the diagram. {tm}

83 What does this tell you about the property of magnels? (1m)

45. Locok at the diagram bkelow carefully.

a) What will happen if a piece of paper is placed hatween the magnei and
the nails? (1m)

b} Would you made the same observation as in (a), if tHe piece of pa'per is
changad to a piece of copper? Expiain why. {im)

End of Paper
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Answer Sheets
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2 3 3 1 4y 2 5 2
o3 8y 4 N 1 0y 3
12} 1 13y 3 4y 4 15y 1
17 2 18) 2 19) 1 20) 4
22) 4 23) 2 24} 4 25) 4
27) 3 28) 3 29) 4 30) 2
Guppy E
Bat B
Ostrich D
Parrot C
Water snake F
3piny anteater A
Circulatory System
X :  Digestion completed
Y o Waier is removed from the undigested food.
Fully submerged Partially submerged Floating
Hydrilia Caitai] Water hyacinth
Arrowhead

Larva stage

) ertarpsllor

[upo
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(35, Similarity : DBoth need air, water and nutrients to LTOW.
Differcnce : Adult plants have bipger leaves than (he young nlants,

(Q3ba. Life Cycle G goes under 3 stages and Life Cycle H goes under 4 stages,
b. Life Cycle H

c. 1t sheds its old skin and grows a new one as it grows bigger. This is called
moulting.
d. Moulting is iraportant to the life cycle of an insects as it will grow bigger it

form to an adult insects,

Q37
Name Sense Orpan Sensc
Nelson Skin Touch
Ronnie Eyves Sight
Samuel Tonmze Tastc

(Q}3R8a. It gives our body shape
b. It protects the delicale organs in our body.

()39, True
h. False
C. False
d. True
Q40a. Systems
System Y System Z
Arery Windpipe
heart lungs
b.  SystemY : Circulatory
Systern 7 ¢ Respiratory
341 Muscle 1 reiax while muscle 2 contracts.

Tiee 2 af 3



()42a.

043a.

(Qdda

[ o =

(}d5a.

QAda.

He showld put the box over fhe Plant Y.
Living things respond to change.
It needs light to make food.

The two toys cars will attract.
The two unlike poles magnet arc facing each other causing them to attraci,

Wool
Rubber
Copper

Nylon

The other South pole magnet must facc each other.
Like poles of two diffcrent magnets will repel or push cach other away.

The nail will attract to the imagnet.
Yes. Itis because copper is not a magnctic material.

Pape dof 3



